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STPis a tangent to the circle, centre O. Q is a point on the circumference of the

circle. OQP isa stmightline. OP = 26 cm and TP = 24 cm.
s T I3
G Digamoos

elracly desun,

(@ AngleOTP = 50 Give arcason why.
(®) Work ou the rdius 0Q o the circe.
(@ Work out the ara of th circke. Give your answer careet to 3 significant
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In the diagrum, A, B and C are points ‘

onthecircumierece ofacrck, ‘

cenr0. A »

PAand B ngens tohecisle.

Angle POB = 50°. \

@ @ Work cut thesieof anle B, X g

accurasly dran
) Give a rascn foryour answer.

® @) Work outthesizeof mgle ACB.
) Give a rascn foryour answer.
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A, Band C are points on the circumference: g [
ofacrle withceni . sy
BD and CDare angens. N

Angle BDC = 40° N (>p

@ ©  Workoutthevalucofp,

) Hemce wrie down the
salucof g

() The tangent DB is cxtended o T.

) Work out the valueo
) Work out he value of y
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) [
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s the centre of thecircl.
Calculate the value of .
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© Owhccmmeorthcick,  Notdm yy
A.B.Cand Dare pointsonthe =Y
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AgleAOC = 126° ‘
©  Caleultte vaue = A ”
e
i) Calculate the valucof y. \0/
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(@ P.Qnd R are points n the circumference of the circe
NPT s the tangent tothe crcl .

N g T

Caleulate the valoe of 2. Givea reason forcach step of your working.
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Circles and Tangents

1. Given that PAT is a tangent to the circle with centre O, find the values of x,y and z.
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In the diagram, AB is the tangent to the circle at Pand PX is a diameter.
Given that BPQ = 42°, find PQX, PXQ and XPQ.
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3. Inthe diagram, O is the centre of the circle. AB s the tangent to the circle at X,
CXB=60° and CXD =22°. Whatis the size of XCD?
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4. Tn the diagram, ATB is the tangent to the circle at point T. Given that PNM = 30°
and TMP =97°, find MTB.
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Given that PAT is a tangent at A to the circle with the centre O, find the value of ¥
and of y in each case.
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6. Given that PA and PB are tangents to the circle with centre O, find the value of x
and of y in each case.
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